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Annyce Davis
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Pls RT: People who use #RxJava, what are
your top three reasons why? Asking for a

friend & #AndroidDev

7:09 PM - 5 Oct 2017

30 Retweets 49 Likes e."ce.‘ b.



Lucia
e @Luc'\aP__B6

Replying 1 il iaher \
Readab\\\w, ?)(?\Neﬂu\ opefam @ Eric Cochran

RN | @Eric_Cochran

Ben Oberkfell Replying to @brwngridev @yogurtearl
@benlikestocode 9

FP: The predictability of functional
Replying to @brwngridev programming is what we progl Yuliya Kaleda
It saved my soul from ¢, already strive for. @

’ Replying to @brwngridev |
Bbobtinkermng,s oc! Convenient data processing though various

eply:ng to @b’an dev @ ./"'-_‘;;“’;;—‘_\\ P@ze Aect Chain OperatOrS
Make e I nt
o muy iple ani \dev geme ’

' 0] | @orwnd' an

rans treading ma 1S i paralg 4y w0 style, Tread ™

nSform/ﬁlter dat € eas , Opers tors to ou F nc’(\Oﬂa






DAtTA tRANSFOR[WA+TTON

Observab le.

ust(5 6, 7)

subscrlbe { printin(1it) }
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Observable.just(5, 6, 7)
.map { ";=-) ".repeat(it) }
.subscribe { printiln(1it) }




CHALNLNG

Observable.just(5, 6, 7)
.map { ";=) ".repeat(it) }

. filter { 1t.length < 24 }

. subscribe { println(1it) }



CHALNLNG

Observable.just(5, 6, 7)
.map { ";-) ".repeat(it) }
. filter { 1t.length < 24 }
.subscribe { printiln(1it) }
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@Test
fun transformwWithMap() {
Observable.just( iteml: 5, item2:6, item3:7)
.map { ";-) ".repeat(it) }
.filter { it.length < 24 }
.subscribe { println(it) }
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listOf(5, 6, 7)
.map { 1t x 5 }
filter { 1t > 25 }
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listOf(5, 6, 7)
.map { it * 5 }
filter { 1t > 25 }

| o5 30 35
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listOf(5, 6, 7)
.map { 1t x 5 }

filter { it > 25 } P -
25 30 35
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listOf(5, 6, 7)
.asSequence()
.map { 1t x 5 }
filter { 1t > 25 }
.toList()



Lot IN SEQUENCES

listOf(5, 6, 7)
.asSequence()
.map { 1t x 5 }
filter { 1t > 25 }
.toList()
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list0f(5, 6, 7) |
.asSequence()
.map { 1t x 5 }
filter { 1t > 25 }
.toList()
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Lot IN SEQUENCES

1istof(5, 6, 7) |
.asSequence()
.map { 1t x 5 }
filter { 1t > 25 }
.toList()




Lot IN SEQUENCES

listOf(5, 6, 7)
.asSequence()
.map { 1t x 5 }
filter { 1t > 25 }
.toList()
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numbers
.map { 1t x 5 }
filter { 1t > 25 }
.subscribe()



numbers map
.map { 1t x 5 }

filter { 1t > 25 } e
.subscribe()

filter

X



numbers map
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Observable.just(5, 6, 7)
.map { ";=) ".repeat(it) }
. subscribe { println(it) }



. map ; t.repeat(1it
.subscribe { println(it) }
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Observable.create<Int> { subscriber =-> }



Observable.create<Int> { subscriber => }

Observable.just(iteml, item2, item3)



Observable.create<Int> { subscriber => }

Observable.just(iteml, item2, item3)

Observable.interval(2, TimeUnit.SECONDS)



Observable.create<Int> { subscriber ->



Logger.log("create")

Logger. log("complete™)

Logger. log("done")



subscriber.onNext(5)
subscriber.onNext(6)
subscriber.onNext(7)



Observable.create<Int> { subscriber ->
Logger. log("create")
subscriber.onNext(5)
subscriber.onNext(6)
subscriber.onNext(7)
subscriber.onComplete()

Logger. log("complete")

}
Logger. log("done")



28
29
30
31
32
53
34
35
36
37
38
39
40
41
42

Run |

»>

val observable = Observable.create<Int> { subscriber =>

@Test
G fun testCreate_withNoSubscriber() {
Logger.log( msg: "create")
subscriber.onNext( value: 5)
subscriber.onNext( value: 6)
subscriber.onNext( value: 7)
subscriber.onComplete()
Logger.log( msg: "complete")
}
Logger.log( msg: "done")
¥
ObservableCreateTest.testCreate_withNoSubscriber

® =& | = I = G P i S8 -
@ All Tests Passed

 Dassa 'Mlhhecramimmlh i d alMruant aA T Aacnt tacntlMunns

117ms

‘__

V voimm AD ICL;:"I-  CT1 N :I\-‘ \Alisn /1] Ssmnans) |

R~ I
1 test passed - 11

=?

»



29 @Test]
30 G fun testCreate_withSubscriber() {
31 val observable = Observable.create<Int> { subscriber => -
32 Logger.log( msg: "create")
33 subscriber.onNext( value: 5) s
34 subscriber.onNext( value: 6)
35 subscriber.onNext( value: 7)
36 subscriber.onComplete() -
37 Logger. log( msg: "complete") -
38 }
39 —
40 observable.subscribe{ Logger.log( msg: "next: $it") } “_—
41 -
42 Logger.log( msg: "done")
43 }
Run = ObservableCreateTest.testCreate_withSubscriber - L
P &= I FE T T + 3+ OB & @ ) 1 test passed - 12
@ All Tests Passed 129ms
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OBSERVER




interface Observer<T> {
fun onError(e: Throwable)

fun onComplete()
fun onNext(t: T)

fun onSubscribe(d: Disposable)



fun onError(e: Throwable)




fun onComplete()



fun onNext(t: T)



fun onSubscribe(d: Disposable)



oBSERVER’S LTFECYCLE
l onSubscribe
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onComplete
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onComplete onError



val observer = object : Observer<Int> {
override fun onError(e: Throwable) {
Logger. log(e)
}

override fun onComplete() {
Logger.log("on complete")
}

override fun onNext(t: Int) {
Logger. log("next: $t")
}

override fun onSubscribe(d: Disposable) {
Logger.log("on subscribe™)
}



67 override fun onComplete() {

68 Logger.log( msg: "on complete")
69 I
70 A
71 override fun onNext(t: Int) {
72 Logger.log( msg: "next: $t")
73 H
14
75 override fun onSubscribe(d: Disposable) {
76 Logger.log( msg: "on subscribe")
77 ¥
78 ¥
79
80 observable.subscribe(observer) ‘_
Run || ObservableCreateTest.testCreate_withExplicitSubscriberFull £+
® = |2 5 £ £ O B & @ ) 1 test passed
@ All Tests Passed 173ms
it

»

Dasse "Mlhhercrammhilafreuant AaAT Aact tAacntlMunns Vevim AD /ICLhiEe 1 C1N £Av \AIin /] tsasans) |



interface Consumer<T> {

fun accept(t: T)




val consumer = object : Consumer<Int> {

override fun accept(t: Int) {
Logger. log("next: $t")
}



— - — w— w mm——— e = e w omow ow we = ow =gy

subscriber.onNext( value: 7)
subscriber.onComplete()
Logger.log( msg: "complete")

val consumer = object : Consumer<Int> {
override fun accept(t: Int) {

T
Logger.log( msg: "next: $t")
}
}
observable.subscribe(consumer)
}
servableCreateTest.testCreate_withExplicitSubscriberFull X
§§i9 =-§ % 3 B £ () 1 test passed
' All Tests Passed 148ms 1507747777513: main: create - _
1507747777513: main: next: 5
1507747777513: main: next: 6 —

1507747777513: main: next: 7
1507747777513: main: complete

Process finished with exit code 0



subscriber.onNext( value: 6)
subscriber.onNext( value: 7)
subscriber.onComplete()
Logger.log( msg: "complete")

val consumer = object : Consumer<Int> {
override fun accept(t: Int) {

Logger.log( msg: "next: $t") '\

s
s
observable.subscribe(consumer)
}
arvableCreateTest.testCreate_withExplicitSubscriberFull
=iz T =z T 3 B &% c____
All Tests Passed 148ms 1507747777513: main: create

1507747777513: main: next: 5
1507747777513: mailn: next: 6
1507747777513: main: next: 7
1507747777513: main: complete



CoNSUMER

val consumer = Consumer<Int> { t -> Logger.log("next: $t") }

obs.subscribe(consumer)



coNSUMER

obs.subscribe(Consumer<Int> { t -> Logger.log("next: $t") })

‘QR




CoNSUMER

obs.subscribe({ t -> Logger.log("next: $t") })



CoNSUMER

obs.subscribe{ t -> Logger.log("next: $t") }



CoNSUMER

obs.subscribe{ Logger.log("next: $it") }

\




@Test
fun testCreate_withExplicitSubscriberFull() {]
val observable = Observable.create<Int> { subscriber ->

Logger. log( msg: "create")
subscriber.onNext( value: 5)
subscriber.onNext( value: 6)
subscriber.onNext( value: 7)
subscriber.onComplete()
Logger. log( msg: "complete")

}

observable.subscribe{ Logger.log( msg: "next: $it") }

ervableCreateTest.testCreate_withExplicitSubscriberFull

Il

g = = % 3 B £ () - 1 test passed

All Tests Passed 250ms 1507749694482: main: create
1507749694482: main: next: 5
1507749694482: main: next: 6 —
1507749694482: main: next: 7
1507749694482: main: complete

Process finished with exit code 0
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oPERAtTOR: MAPO

Observable.just(5, 6, 7)
.map { ";=) ".repeat(it) }
. subscribe { printin(it) }



oPERAtOR: MAPO

Observable.just(5, 6, 7)
.map { ";=) ".repeat(it) }
. subscribe { printin(it) }




oPERAtTOR: MAPO

Observable.just(5, 6, 7)
.map(object: Function<Int, String> A
override fun apply(t: Int): String A
return ";-) ".repeat(t)
}

})
. subscribe { printin(it) }



oPERATOR: MAP(
Observable. ] C
b (objact: Functionsint, Strings)

override fun apply(t: Int): String {
return ";-) ".repeat(t)
}

})
. subscribe { printin(it) }



oPERAtTOR: MAPO

Observable.just(5, 6, 7)

.map(object: jon<In |
override {
return ";-) " repeat t
}
F)

. subscribe { printin(it) }



oPERAtTOR: MAPO

Observable.just(5, 6, 7)
.map(object: Function<Int, String> A
override fun apply(t: Int): String {

return ";-) ".repeat(t)
}

})
. subscribe { printin(it) }



.map(object: Function<Int, String> A
override fun apply(t: Int): String {
return ";-) ".repeat(t)
}

) I

I

.map { ";=) ".repeat(it) }
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Observable.just(1, 2, 3)
.map { 1t x 2 }
.subscribe { println(1it) }



WHAT'S tHE oUtPU+:

Observable.just(1, 2, 3)
.map { 1t x 2 }
.subscribe { println(1it) }




WHAT'S tHE oUtPU+:

Observable.just(1, 2, 3)
.map { 1t x 2 }
. subscribe { println(1it) l_.




WHAT'S tHE oUtPU+:

Observable.just(1, 2, 3)
.map { 1t x 2 }
.filter { 1t < 6 }
.subscribe { println(1it) }



WHAT'S tHE oUtPU+:

Observable.just(1, 2, 3)
.map { 1t x 2 }
.filter { 1t < 6 }
.subscribe { println(1it) }




WHAT'S tHE oUtPU+:

Observable.just(1, 2, 3)
.map { 1t x 2 }
.filter { 1t < 6 }
. subscribe { println(iﬁ{ }
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OPERATOR: FLATMAPO
Observable.just(e , o )

. TlatMap( { Observable.just( ¥ ) } )
.subscribe { printiln(1it) }
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oPERAtTOR: FLATMAP(O

val users // Observable<User>



oPERAtTOR: FLATMAP(O

val users // Observable<User>
val posts: Observable<Post>



oPERAtTOR: FLATMAP(O

val users // Observable<User>
val posts: Observable<Post>

posts = users.flatMap { getUsersPosts(it.id) }



oPERAtTOR: FLATMAP(O

val users // Observable<User>
val posts: Observable<Post>

posts = users.flatMap { getUsersPosts(it.id) }
posts.subscribe { printin(it) }
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RE SOURCES

* Reactive Programming on Android with RxJava (http://amzn.to/2yOAkxn)
* Reactive Programming with RxJava (http://amzn.to/2zQtgb5)

* RxJava Playlist (https://goo.gl/9fw1Zv)

* | earning RxJava for Android Devs (https://goo.gl/VWXxFLK)

 RxJava Video Course (https://caster.io/courses/rxjava)



http://amzn.to/2yOAkxn
http://amzn.to/2zQtqb5
https://caster.io/courses/rxjava
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